0112 N2 1AW (aPWw0'wvon NN 11N

PYoNw 120 17 211y AT ,0NX12PN0 P90 1IRW NYT7 17 210 .0P0W0WPr0 N1a1N 1IN
Y1 0MYI1AWI 11499 9w 1N YW, 9wNnY RN, RN 11N YW "n1maa’nn
NTINY N112N07 NN 771210 21790 7NN 7y nTw nawin” Ay Tin oy patv nnann

- INN NNNT,1N'™Y "NNAY TPann DNWNITY "TNyanwd . TRN TNIN 011771y JARY ,N'01714
.7NXY NN "N704a

NnwIITA %Y N1y 12 .wnn 8% 2NN0an N1a11yn 17 1'R 2910712 11701 7T NapT 297
1NJN1 N13a% 1071 - 07270 'RIN2 N/ TNy 71°R OXR” :21N21 02,9102 Nyn? "Nyany Ty
.INYD TNawnn J"InmTnyin NN 21pwal 1aon

197V0 72 9191 7971V N10 L1270 17 1'N V1TN 17 TNN20N1 "9V DY 'NAWTIWI] L1V 1NIN]
.28 N2 N'N1I NN - 7912

.OW1 182 07071 ?RT 2910712 1170)

XIND 227 my1an 719w DINNNN 11112 2n'nnan ni1anivn

17Iyny TPan na w1 11727 20UVNn 12 W1 1P 1M RID 123 102 AN RN -11NPa
N1Aa0n "IN "7W NINXINA 1N7yna 1NNaT1 WAt 1R = 17 DRNN AN <ININ QX1 "IN <IN
-2 NININNN 10 DN 21 TPaNn7 NMTNy1in NN 0'Waw ,INWN 1'2 ,0°'NINY 0D1Mpnn 7y
nn% 11717 12wNT 022 :TIv1 .60% 7w NNNNN N2'adn 01217 T1ya ,N1wIITiN 100%
.19W277 Nn'71 ,N7 NN 12wnT 0wl .1N79% 0N NN9%1,0'RNN 12 0N

N'W1 N1ANaNN) N1M17¥81NN 1IN N1PA0 ,N1AWN DAR OV ,11V71 18P TNANd , WP "Nwian
Y1900 N1 N 1WP1AWd ,07TINY 1IW7 920 TN0120 177AN1 ,NN™RNN 1IN Y1TN (N¥14]
.J1'N17 TNAN1T 0N NNa 1149

nw1y 12”w 1% nnw "N K7 ,0MpPNN0 DN TN120 K2 1978 .0awnna 'yio 'nwy 2N
.ANRNN "1'NW N 0T ,NWKR N2 Danann %30 702 IR "1712

NYW ,N1¥1Y NINIY 11NIN) 'WIN 1'NNN 27N 12%W N1912an0 D1anannn 2y Ty 11nY
,NV121 19 0711270 NNPYN N1yINa ,1INNY DN NAWY 117 nwp ,N17'81] 1INIRY 12wn?
72N1NN NN 122 TN — ]2NNY DR 198W 109X 2% 0'wH 17°nnnt (InTh 92 m1YNann



